CCLair® LTR8BS AR R T 22 AR S By 7

B A )

o=EHES DF - L10 H 1 - S
R \— RIS s=LiER
EEAR: EEAREN: 1=0.04MPa
L= 88505 B=IRRIERE F=iA2EE 2=0.4MPa
AFREE (mm):10,20,32,50,65,80 ATREN: H=31.5MPa
° FEIS Al - Ha 10 L
@ ERSHE R
P1 P2 AFRES: H=31.5MPa L=i29r% i B=tRRIEHE F=E2iERE
EEFBEN:a=0.04MPa AFREIZ (mm)
b=0.4MPa 10,20,32,50,65,80
gEARE ¢ L
FERAN R TYERRER: SKIER
NRRESEE T YRR EM: -20C~+70 C  &KIER: +10C ~+54C
N ESEE 10~350mm fs
SR REE <30 um
MEFEREN 31.5MPa
AER
=
|
P2 <= |2 T
AT T
V)
1O
= s I I
I el Ly
V., § Lasa
I I -
= — = ===y
B2
B1 T
B P1
B A B B1 ! B2 H H1 I M e L/min
DF-L10H+* 54 32 79 31 M18x1. 5 40
44 44 18 45— AR
AJ-H*10L 63 40 90 42 M22x1. 5 40
DF.20H* 72 42 101.5 45 M27x2 100
- 58 58 22
AJ-Hx* 20L 79 49 107.5 51 M 33 x2 100
DF-L.32 Hx* 98 60 80 121 52 M 42 x2 200
76 ; 24
AJ-H*32 L 99 60 6 128 59 M 48 x2 200

> D-04 =R DR



CCLair®

LIKA LB RF RIRF B H

AR
& ——B A 4@ -
- — -~
a9 e i 3
11 = \
ity N ,J
g — o <0
! <
S n-M ’/":\ |
| 1/( |_\) <|<C
- T T F m— !
E____:__Li[ _P_1 \q:/ i Y
H1 I B2 |
H i B1
B .
ik
BE A | A1 A2 | A3 | A4 B B1 B2 C H [H1 | | | ®1 | @2 n-m
L/min
DFB10H* | 78 | 54 44 - 14 | 90 | 66 33 - 85 | 36 |15 | 14 | 22 | 4-M10x50 40
AJ-Hx10B | 67 | 42.9 357 - 7.1 90 | 66.7 |33.3| 725 | 8 |30 |16 | 13 | 22 | 4-M10x45 40
DF-B20H* | 92 | 62 53 - 13 | 95 | 65 |32.5 - 105 | 36 | 20 | 21 | 30 | 4-M14x55 | 100
AJH*20B | 86  60.3 | 49.2 - 11.1 | 105 | 79.4 | 39.7 | 94.3 | 98.5 | 36 | 15 ‘ 20 32 | 4-M10x50 100
DF-L32B* | 114 | 80 70 N 20 | 123 | 90 45 - 124 ‘47 24 | 25 | 35 | 4-M16x70 200
AJH*32B | 108 | 84.1 | 67.5  42.1  16.7 | 120 | 96.8 | 48.4 | 118.1 123 45 | 16 | 30 40 | 4-M10x60 200
B _ A %
| i |
PV A\
|
: I :
|
|
o | )
—_ T
b o <€ I
—l
] P
o8
[ | 52
I I il i
Y I I B ¢ r
|
; E
r‘—ﬁ-
4
P1
- —— -

e B B1 H H1 A T D | M [ E W& L/min
AJ-H*32F 76 85 137 68 104.7 60. 1 ©30 M14 22 60 200
DF-F50H:* 130 110 159 64 154.2 75 46 M16 24 92 500
AJ-H#*50F 120 120 169 64 154.2 83.4 46 M20 30 92 500
AJ-H+* 65 F 140 140 210 85 182.2 102.5 55 M20 30 110 800
DF-F80H: 170 155 227 113 198 105 66 M22 40 113 1250
AJ-+H*80F 170 155 275 113 198 113.1 66 M24 36 113 1250

» D-05

RRERERA, [R5



